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LEAAIISUINAANS
~ ~
A29819 (5 x8) + 20 —
51 (5 x 8) + 20 = 40 + 20
- 60
L fIUU (5% 8)+ 20 = 60 )
1) 100 + (72 = 8) =
¥ 100 + (72 = 8) - ———_—_——————
§ah 100 + (72 = 8) -

2) (240 - 225) x 7 =
/Y (240 - 225) x 7 =

ey (240 - 225) x 7 S

3) 6 x (196 — 188) =
/Y 6 x (196 — 188) =

§ 6 x (196 - 188) .
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4) 81 = (219 - 210) =
WY1 81 = (219 - 210) =

§uhy 81+ (219 -210) =

5 (27 +3)+ 168 =

W (27 + 3) + 168 =
fedu (27 +3) + 168 =

6) 25+ 13)x3 =

W (25+13)x 3 =
fefu (25 +13) x 3 T

7) 8 x (89 - 15) =

W 8 x (89 - 15) =
fiu 8 x (89 - 15) =

gafINTINNIIEER] (FniuinGew) nguansznsdeuiadamand Madeui b wmiszondnenln v (@Uudiuly)

®OE




